CARD MATCHING

A

Blackbeard is on a losing streak.
He lost one set of three weapons
today, and he lost four other
weapons last week. What is
Blackbeard’s total loss?

Captain Hook has five baskets
with five hooks in each basket.
How many hooks does he have?

As Long John Silver sailed north
today, he noticed that the
temperature dropped six

degrees every hour. How many

degrees did the temperature
drop in four hours?

Captain Jack Sparrow has three

treasure chests, each containing

two pounds of gold. He has five
more pounds of gold stashed
away on his ship. How many
pounds does he have in total?

Captain Kidd borrowed three
dollars from his buddy four times
last month. This month he bor-
rowed an additional two dollars.
How far in debt is the captain?

Calico Jack baked two sets of two
cookies, but he was so hungry
that he ate three cookies immedi-
ately. How many cookies are left?
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Davy Jones owes seven dollars to Black Bart keeps three treasure
a friend, but he has only three maps in each of his traveling
dollars in his pocket. If he gives bags. If he takes one bag with

his friend all the money, how him on his trip, how many
much debt does he still owe? maps does he have?

g(x):Zx—3 h(x):—3x—4
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k(x)=—3x—2 f(x):2x+5
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